N
Ak £0'872
_ M4 £0'898+0
Sz S H-10'8%2 - 68'1%2 - 00'698+0
SHIE BMOXOI0SOPOM 66242 | ,
N2 % BYUSIZPNIS  8Y'298+0 | _
SGg| Slu @ (S - 16252 - 18'1%2 - 00'098+0
25T EE g ol
S = EE - 16'L12 - ¥8'L%C - 00'658+0
@ +3 @ ) ¢
% © M, 8 g g 16 V¢
= = = ) 168+ ‘
N 2E= Ruzoyjond pzefz - 88'158+0 06'L12 L 06212 L1812 - 00'068+0
N 5 E'g .
& = 8§& g L 8E'6Y8+0
m.. > QWu % n_m|.u. m m ‘ m S Nw m . ¢ ‘
z|2¢5 98'/¥2 8388 |5 e Lo | - 00'G¥8+0
OlssSy 90°7v8+0 STV T 5
Z /838 e €= 2 S
5|8 e8> _3| ¢ ‘ 89212 Leguz | 11 - 00°0v8+0
Az |ges|x qE 43 SLa5040 :
: e8| (g[8 |58
m :mL WWM = w g w g - 17'15e - 0r'LvT - 00'GE8+0
° xr | =9 (@)
g ||~ 58| [
s & =@ 1 |3 g2 Il g7 L gl L 00°
< @m W%,.m T 5| ¢ 2|5 9z’ 11T 61T 00'0€8+0
- Se3 % g 2 |glg8
z m L%Oam = - £ @ F|E o
Ew<ES m L2 o H-50'L¥T - 66'9Z - 00'528+0
e REE T SS T
Sgeb =t >
momd $ © m m - 3
3 253 g N H- ¥8'9%T - 6.'9%2 - 00'0Z8+0
=8 |SE~x e
5 @ 8= = = - z9'9vz - 85'9ve L 00'G18+0
= = j=
«5 88 5 5l 5
TESE z 2l |l Blgl B A - 9g'ore L 00'018+0
23922 gl 12 2| |5 S
@aee o) o == @ H- 02'9v2 - €1'ove - 00'608+0
ooowmm 66572 —H5vC —06608+0—
c mgoxm_omom%, 68 e r
S3=g BYUBIZPNIS  8Y'L6/+0 | o
sews %mwmmm mREki SR74 - 00'G6.+0
W - o
o
Nmmmmwmo L h'she - 99’51z 0006240
H-0L'she - £9'he - 00'68.+0
Els2
2
e oo - 09'she - 00'08L+0
I
- 29'5he - 85'Ghz - 00'6.+40
65'12
+
€8'11240 - 8551z - 15'she - 00'0£L+40
8GSHT glee
AulenpimApul pzelz 8Y'29/+0<l3
S Hssre - z5'she - 00'69.+0
an
ag'sye 65'he » .
MOXOI0SOPOM 81°09/+0  GS'G 65°Ghz [ S 000940
ByUsIiZpn)S  €¥'8G/+0 JI+0 Ui
£ H-95'Ghe - £6'he - 00'66.+0
S8381 i
S o
:0.9 nonon N+O
game H-29'svz - 16'672 - 00°052+0
6L'GT H-€L5hT - 1P'ShT - 00'GhL+0
8L ¥y.L+0
- 18'she - £8'he - 00'0%L+0
- 10'%e PSS || g | [ 00SEL
EEN ﬂ,%
S8 ; . ;
BMOYPIOSODOM  0Z°94Z @m_o oo | o o [ wore || o S| - o0'0eL#0
BYUBIZPNIS  8Y'8TL+0~~ ]R8
[/ E9V]
Hoog'ov |~ " 9zone - 00'62.+40
H- pr'9he -z - 00'0zL+0
1G°9ke » » »
091 /+0 H-65'9%2 - v5'91g - 00'G1L+0
H-18'9%2 -Gz - 00'04L+0
H-€0'2%2 - 16912 - 00'60.+0
Imaaxw_vwdddéﬂ NW.HN-.WN. lﬂ-uﬁ:., Gé rvm, —6+L¥¢ —0600/+0—
BYUBIZPNIS  8Y'869+0 |~ ©
vt v m - 00'569+0
-
- 69'112 - 29'lhe - 00'069+0
BMONBIOSOPOM | o BB'JVT | "
BYUSIZPMIS — 50'co0dF89+0 | F16'L1T - €8'LT - 00'G89+0
H-71'8¥e - 50'8¥e - 00'089+0
H- 6E'8he - le'she - 00'6/9+0
®>>Ov_®_omODO>> mN,w.vN y H- G9'87Z + 69'8KC + 0002940
BYUSIZPNIS M#,w@@é /
Sage _ - £6812 S8BT ST | 10059940
SIxoS 88 8¢ %
D5 G0'€99+0 ENAY
=@ ‘ ‘ ' 9
-2 H-2z'6he - 91'61T e - 00°099+0
H- £5'6YC - v'ehe - 00'669+0
- 98'6¥C - 11'6h2 - 00'059+0
H-12'052 - 61'052 - 00'G79+0
6v'052
§>ov_m_owovo\,mo WS 102 he - £6'052 - 26'052 L [ 00'0¥9+0
BYUBIZPNIS wv.mm?mw;,
0162 Iy - ¥6'052 - 68'052 - 00'6£9+0
0.°€€9+0
£ - 2e'152 FITIST e | | [ 00'0£9+0
=3 ¢ o~
S3383 £6'162 =
B 10'29+0 » qer »
& H-6l'15T 69162 L o | | 00529+
0¢'zse » » .
GE'029+0 - €¢¢Ge RPAXATA - 0010¢9+0
H-€1'252 - 99'252 - 00'G19+0
4
BMOYDIOSOPOM 61652 L~ » » g _
ByUaIZpniS  8%¥°019+0 / - ¥2 €5 - Gl€se O_Jy - 00019+0
\ 65'€62 —
+
88.909+0 - pl'ese - £9'e62 - 00'509+0
82'v5¢C H- 02752 F8IYST | gl | 0000940
AujenpimApul pzefz 80°'665+0 S©
o
\ - 29'%52 L1995z | e 9 |- 006540
78'7S¢C
KuenpimApur pzelz 82265+
_ [ENPIVIPUL PZEZ Ecoo |8 - 10'552 - 16'¥52 - 00'065+0
9's6z Ss=2||8 <[ T
98'/8G+0 \ Suun|ln e
_ o« = - pE's5e NerA AT - 00'85+0
Ly'SST -
KujenpimApur pzelz 00 €85+0
EMOYPIOSOPOM  22°G5Z N, - 19552 - 76's62 - 00'085+0
ByualZpniS  8¥'8.G+0 |
H- 06'562 oS | - 00'/6+0
£0'952 =3
002G+ » .. B .
AurenpimApur pzefz 91'952 - 1ese Siosse T || Fooosseo
11'89G+0 g —
H-0£'952 - 0z'952 - 00'696+0
—H 87952 - 8¢'962 | 1 00'096+0
H-99'952 - 95'967 - 00'665+0
EMOYBIOSODOM  06'957 — 18952 - v1'962 m - 00'055+0
BYUSIZPNIS  8Y'8YS+0 [ W
H-£0'152 Lz | - 00'G¥5+0
12152 » » .
; 17152 01152 - 00'0¥5+0
Auienpimfipur pzefz  00°0vS
- 6€'452 - 8z'152 - 00'€5+0
16'262
AuienpmAplu pzefz 08 1ES+0 Sy - 1918 - 0006540
3 A—N_
LL'15T H-9/'152 F99U67 | o - 00'625+0
AujenpimApur pzelz 0S'725+0 i
EMOYOISODOM 2657 » T _
BYUaIZpNiS  8%'0¢5+0 — ¥6'292 - G8'/G¢ 00°025+0
H-21'852 - 0'862 - 00'G16+0
97'80G+0
- 11’852 - 0v'852 - 00'605+0
#9'857 -95'967 —66606+0—
G1'8G¢
) +0N
0k 967 o%% - 18'852 - 91'852 - 00'67+0
Sl
BMOXSIOSOpOM  66185C | —H 86952 - £6'852 - 00'067+0
BYUBIZPNIS  8¥'B8Y+0
- 71652 - 60'65Z - 00'87+0
2652
02'28Y+0
c —H 16652 - 92'652 - 00'08%+0
5528 2r'662
g .
Tor e HL9LP+0 1565z - arese - 00'52+0
19'652
CC LLY+0 —-2L'65¢ - ¥9'65¢ 000740
s - 76'652 9865 | - 00'697+0
3L <
AujenpimApur pzefz zi‘09z /¥ S
N\SOV_Q_OwOUO\S MN§W®¢+\: N ‘\\D&O@N \NQO@N h_ \oo.owv+o
BYUSIZPNIS mv_wm?o\
¢r'09e H-6£°092 - 62092 - 00'657+0
G ¥ar+0
—H 79092 - 15°09¢ - 00'057+0
m%%Z ‘
Swos 78 09¢ L cg'00z L 92002 L 005740
ST 8L7rv+0
=
@
11192 - 20'192 - 00'0¥P+0
Ge'19e
2E°GE7+0 H-££'192 -6¢'192 - 00'GEV+0
Slse » » .
®>>Ov_®_owOUO>> NN_ 192 MMMWOM —19'19¢ F99°19¢ - 00°0ey+0
BYUSIZPNIS  8¥'8CH+Gi
96192 ) 16192 - eg'loz L 00'szr+0
AujenpimApur pzelz 0€ ¥Zv+0 80'292 |
1Zr+
% ey g 81292 - 01292 - 00'0zp+0
m —m
‘ QO o 522
2’29z SIS |2 » » .
€GGly+0 S| H- 1292 - 66792 - 00'G1P+0
R =
=
€9'79¢ —09'29¢ - 25792 - 0004740
60°607+0
10792 0792 - 00'507+0
£6'29¢ 98'29¢ 00°00%+0
e | 2 £
= e @® N
= S S o
o .ml —— [oN
D = L = ‘N
o = =t = ©
= = R} = =
@ — [ -— [<b]
[ @ = ] e
B 2 B B k=)
N et N et R~
[a'd o o o X




